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•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 8 rFkk iz'u 29 gSaA  
 Please make sure that the printed pages in this question paper are 8 in number and 

it contains 29 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj dks Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij fy[ksaA 
 The Code No. on the right side of the question paper should be written by the 

candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 
 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 
 Don’t leave blank page/pages in your answer-book. 

•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 
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•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA jksy ua0 ds vfrfjDr iz'u&i= ij vU; dqN Hkh u 
fy[ksa vkSj oSdfYid iz'uksa ds mÙkjksa ij fdlh izdkj dk fu'kku u yxk,¡A  

 Candidates must write their Roll No. on the question paper. Except Roll No. do not 

write anything on question paper and don't make any mark on answers of objective 

type questions. 

•••• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k elEcU/k elEcU/k elEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAsa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAsa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAsa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    
General Instructions : 

 (i) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    
  All questions are compulsory. 
 (ii) çR;sd ç'u ds vad mlds lkeus n'kkZ;s x;s gSaA 
  Marks of each question are indicated against it. 

 (iii) ç'uksa ds mÙkj vadkuqlkj nsaA 
  Answer the questions according to their marks. 

  1. 'kkd-lfCt;ksa dk fo?kfVr gksdj daiksLV cuuk dSlh vfHkfØ;k gS \ 1 

 (A) Å"ek'kks"kh (B) Å"ek{ksih 
 (C) la;kstu (D) foLFkkiu 
 What is the type of reaction of the decomposition of vegetable matter into 

compost ? 

 (A) Endothermic (B) Exothermic 

 (C) Composition (D) Displacement 

  2. vip dk mipkj djus ds fy, fuEu esa ls fdl vkS"kf/k dk mi;ksx gksrk gS \ 1 

 (A) ,aVhck;ksfVd (B) ,sukytsfld 
 (C) ,sUVSflM (D) ,aVhlsfIVd 
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 Which one of the following types of medicines is used for treating indigestion ? 

 (A) Antibiotic (B) Analgesic 

 (C) Antacid (D) Antiseptic 

  3. lYQkbM v;Ld dks ok;q dh mifLFkfr esa vf/kd rki ij xeZ djus ij vkWDlkbM esa ifjofrZr gksus dh 
çfØ;k] D;k dgykrh gS \ 1 

 (A) HktZu (B) fuLrkiu 

 (C) xSax (D) mijksDr lHkh 

 The process of converting sulphide ore into oxide on heating at high temperature 

in the presence of air, is called : 

 (A) Roasting (B) Calcination 

 (C) Gangue (D) All of the above 

  4. ml niZ.k dk uke crkb,] tks fcac dk lh/kk rFkk vkof/kZr çfrfcac cuk lds % 1 

 (A) mÙky (B) lery 
 (C) vory (D) mijksDr lHkh 

 Name a mirror that can give an erect and enlarged image of an object : 

 (A) Convex (B) Plane 

 (C) Concave (D) All of the above 

  5. ekuo us= ftl Hkkx ij fdlh oLrq dk çfrfcac cukrs gSa] og gS % 1 

 (A) dkWfuZ;k (B) ifjrkfjdk 

 (C) iqryh (D) n`f"ViVy 
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 The human eye forms the image of an object at its : 

 (A) Cornea (B) Iris 

 (C) Pupil (D) Retina 

  6. çdk'k dk dkSu-lk çHkko vfxze lw;ksZn; ,oa foyafHkr lw;kZLr dk çeq[k dkj.k gS \ 1 

 (A) ok;qeaMyh; viorZu  

 (B) ijkorZu 

 (C) fo{ksi.k  

 (D) çdh.kZu 

 Which effect of light is the main cause of advance sunrise and delayed sunset ? 

 (A) Atmospheric refraction (B) Reflection 

 (C) Dispersion (D) Scattering 

  7. oS|qr pqacdh; çsj.k dh ifj?kVuk % 1 

 (A) fdlh oLrq dks vkosf'kr djus dh çfØ;k gS 

 (B) fdlh dqaMyh esa fo|qr /kkjk çokfgr gksus ds dkj.k pqacdh; {ks= mRiUu djus dh çfØ;k gS 

 (C) dqaMyh rFkk pqacd ds chp vkisf{kd xfr ds dkj.k dqaMyh esa çsfjr fo|qr /kkjk mRiUu djuk gS 

 (D) fdlh fo|qr eksVj dh dqaMyh dks ?kw.kZu djkus dh çfØ;k gS 
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 The phenomenon of electromagnetic induction is : 

 (A) the process of charging a body 

 (B) the process of generating magnetic field due to a current passing through a 

coil 

 (C) producing induced current in a coil due to a relative motion between a 

magnet and the coil 

 (D) the process of rotating a coil of an electric motor 

  8. efLr"d mÙkjnk;h gS % 1 

 (A) lkspus ds fy,  

 (B) ân; Lianu ds fy, 

 (C) 'kjhj dk larqyu cukus ds fy, 

 (D) mijksDr lHkh 

 The brain is responsible for : 

 (A) thinking  

 (B) regulating the heart beat 

 (C) balancing the body  

 (D) all of the above 

  9. ,slh /kkrq dk mnkgj.k nhft,] tks dejs ds rki ij æo gksrh gSA 1 

 Give an example of a metal which is a liquid at room temperature. 

10. fdl rÙo esa nwljs dks'k esa igys dks'k ls nqxqus bysDVªkWu gSa \ 1 

 Which element has twice as many electrons in its second shell as in its first 

shell ? 
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11. ml xksyh; niZ.k dh Qksdl nwjh Kkr dhft,] ftldh oØrk f=T;k 28 lseh gSA 1 

 Find the focal length of a spherical mirror whose radius of curvature is 28 cm. 

12. fo|qr /kkjk ds ek=d dk uke crk;saA 1 

 Name the unit of electric current. 

13. rsy ,oa olk;qDr [kk| inkFkks± dks ukbVªkstu ls çHkkfor D;ksa fd;k tkrk gS \ 2 

 Oil and fat containing food items are flushed with nitrogen, why ? 

14. xeZ ty dk VSad cukus esa rk¡cs dk mi;ksx gksrk gS] ijUrq bLikr dk ughaA bldk dkj.k crkb,A 2 

 Give reasons why copper is used to make hot water tanks and not steel. 

15. esaMsyhQ us viuh vkorZ lkj.kh rS;kj djus ds fy, dkSu-lk ekinaM viuk;k \ 2 

 What were the criteria used by Mendeleef in creating his periodic table ? 

16. ,d lery niZ.k }kjk mRiUu vko/kZu +1 gSA bldk D;k vFkZ gS \  2 

 The magnification produced by a plane mirror is +1. What does this mean ? 

17. fo|qr lapkj.k ds fy, çk;% dkWij vkSj ,syqfefu;e ds rkjksa dk mi;ksx D;ksa fd;k tkrk gS \ 2 

 Why are Copper and Aluminium wires usually employed for electricity 

transmission ? 

18. mRlthZ mRikn ls NqVdkjk ikus ds fy, ikni fdu fof/k;ksa dk mi;ksx djrs gSa \ 2 
 What are the methods used by plants to get rid of excretory products ? 

19. tc ,sfMªuyhu #f/kj esa òkfor gksrh gS] rks gekjs 'kjhj esa D;k vuqfØ;k gksrh gS \ 2 

 How does our body respond when adrenalin is secreted into the blood ? 

20. ikni esa çdk'kkuqorZu fdl çdkj gksrk gS \ 2 

 How does phototropism occur in plants ? 
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21. chtk.kq }kjk tuu ls tho fdl çdkj ykHkkfUor gksrk gS \ 2 

 How will an organism be benefitted if it reproduces through spores ? 

22. ikfjra= esa viektZdksa dh D;k Hkwfedk gS \   2 

 What is the role of decomposers in the ecosystem ? 

23. lalk/kuksa ds nksgu ds fy, de-vof/k ds mn~ns'; dh ifj;kstuk ds D;k ykHk gks ldrs gSa \ 2 

 What would be the advantages of exploiting resources with short-term aims ? 

24. (i) )(aqH +  vk;u dh lkaærk dk foy;u dh çÑfr ij D;k çHkko iM+rk gS \ 2 

  What effects does the concentration of )(aqH +  ions have on the nature of 

the solution ? 

 (ii) ty dh vuqifLFkfr esa vEy dk O;ogkj vEyh; D;ksa ugha gksrk gS \ 2 

  Why do acids not show acidic behaviour in the absence of water ? 

25. dkcZu ds fuEu xq.k/keks± dks la{ksi esa le>kb, %  2 + 2 = 4 

 Briefly explain the following properties of carbon : 

 (a) Üka`[kyu  

  Catenation  

 (b) la;kstdrk 

  Valency 

26. (i) fo|qr eksVj esa foHkDr oy; dh D;k Hkwfedk gS \ 2 

  What is the role of the split rings in an electric motor ? 

 (ii) ?kjsyw fo|qr ifjiFkksa esa vfrHkkj.k ls cpko ds fy, D;k lko/kkuh cjruh pkfg, \ 2 

  What precaution should be taken to avoid the overloading of domestic 

electric circuits ? 
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27. ÅtkZ òksr ds :i esa thok'eh b±/kuksa rFkk lw;Z dh rqyuk dhft, vkSj muesa varj fyf[k,A 2 + 2 = 4 

 Compare and contrast fossil fuels and the Sun as direct sources of energy. 

28. esaMy ds ç;ksxksa ls dSls irk pyk dh y{k.k çHkkoh vFkok vçHkkoh gksrs gSa \ 4 

 How do Mendel's experiments show that traits may be dominant or recessive ? 

29. (i) Loiks"kh iks"k.k ds fy, vko';d ifjfLFkfr;k¡ dkSu-lh gSa vkSj mlds miksRikn D;k gSa \ 2 + 1 

  What are the necessary conditions for the autotrophic nutrition and what 

are its byproducts ? 

 (ii) tuu fdlh Lih'kht dh lef"V ds LFkkf;Ro esa fdl çdkj lgk;d gS \ 3 

  How does reproduction help in providing stability to population of species ? 

vFkokvFkokvFkokvFkok    

OR 

 (i) euq"; esa nksgjk ifjlapj.k dh O;k[;k dhft,A ;g D;ksa vko';d gS \  

  Describe double circulation in human beings. Why is it necessary ? 

 (ii) xHkZfujks/kd ;qfDr;k¡ viukus ds D;k dkj.k gks ldrs gSa \ 3 

  What could be the reasons for adopting contraceptive methods ? 

S 

 

 

 


